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HSHHEX 2T (A 124128 #7)

s o g AR H7]E (ng/kg, ATF V1)

17 A 273
s (&) 10,000 2,000
A QFE B 200 40
p: RN 4,000 800
32 w= 1 3 1,850 370
oled w= 7 3} 9,000 1,800
T8 = 1 3 2,000 400
R we g 20 4
o = g 3 5 1
71413} 35 100 20
Gl 145 29

= 7 3IE 1,100 220

Ze g 3inldd 0.15 0.03
el dshnHd 0.15 0.03
Z o shn) 9 d 0.15 0.03
Zel s Hd 0.15 0.03
Zg)od shn) g d 0.15 0.03
Zgd3sn Y 0.15 0.03
el dshnHd 0.15 0.03
Uzerd 0.8
AdE 1
SLE 24l 4 0.8
Wl % (a) 3 2 4.5 0.9
Z70 10 25
Wl % (a) QFE g4l 5 1
HZE D) ZFoH 4 0.8
2. ¥ 6 AlZvlE - vl g 2257129 H7) = (ng/keg, A5F7)=

A171% A 271F
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